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Chapter: Do Ourselves 

 

Solution sheet - 3  

         Answer to the question number -1 

 

    

 

 

 

 Answer to the question number -2 

 

 

 

 

 

Answer to the question number -3 

Wednesday. 

 

Answer to the question number -4 

 

Night 10 o’clock to night 12 o’clock 2 hours  

and night 12 o’clock  to night 6 6 o’clock 6 hours 

Therefore, Mina sleeps = (2 + 6) hours = 8 hours 

Ans: 8 hours 

 

 Answer to the question number -5 

9 o’clock to 6 hours 

 9 to 12 o’clock is 3 hours and 12 to 3 o’clock is 3 hours total 

 (3 + 3) = 6 hours. 

 So, Robin finished his work at 3 o’clock. 

Ans: 3 o’clock. 
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Answer to the question number – 6 

1. c.8 

2. b.2 

3. b.9 

4. b.5 

5. d. Thursday 

 

 


